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Faults (C1)[AT,DT]: [0.0380001, 0.0284438]
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= Overcurrent Trip (DCPS)
- Auctioneered Data (idl)

F Condjtioned Data (DCPS), Limits: [-(
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[ Action (idl), Max = 1457.07, End Val.= 1457.07
- Full Action (idl), Limit = 1990.00, Max.=1458.23, End Val. 1457.07
| Shot #: 2609, Param Tree: 72
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E_IDL, éircular, [-24.19888, 0.0067i284]

DCPS, Circular, [-24.988787, 0.0067128365]
IDL, Shaped [Displaced], [-24.9886, 0.00663350]

DCPS, Shaped [Displaced], [-24.988554, 0.0066335021]
Shot #: 2609, Param Tree: 72
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